
SEATTLE CITY LIGHT 

CONSTRUCTION GUIDELINE 

STANDARD  NUMBER: 
PAGE: 
DATE: 

REV: 

D8-10 
1 of 1 
June 18, 1970 
February 5, 2004 

 

ORIGINATOR STANDARDS COORDINATOR STANDARDS SUPERVISOR UNIT DIRECTOR 

   

 

 

TYPICAL 
NUMBER BOARD INSTALLATION 

 d8-10.tif 
 
 
 

Note:  Number Board to be on street side so it can be read from either direction on the street. 
 

 
 

Material List 

Item Description Stock No. 

1 Number Board, Shop Made* – 

3 Flat Washer, 1/4" Bronze 788022E 

4 Hex Nut, 1/4" Bronze 783321E 

6 Cap Screw, 1/4"x1", Bronze 784505E 

7 Lock Washer, 1/4" Bronze 788121E 

8 Lag Screw, 1/4"x4" 785216E 

9 Flat Washer, 3/8"x1" Galvanized 585020E 

10 Bracket, Number Board Mtg. 563225 
*Order numerals on both sides of number boards which are to be 
installed on the side of the pole. 


	Material List

